x(e): position anached at time t  

$$2(11)$$
: and m hich analysed at time t  
 $2(11)$ : and m hich analysed at time t  
 $2(11)$ : and m hich analysed at time t  
 $2(11)$ : and m hich analysed at time t  
 $2(11)$ : and m hich analysed at time t  
 $2(11)$ : and m hich analysed at  $2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0$  (3) and we will have to fix the chain  
 $= \frac{1}{4t} < x^2(11) = 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0$  (3) and we will have to fix the chain  
 $= \frac{1}{4t} < x^2(11) = 0 = 5 < x^2(11) \ge 0$  (3)  
 $= \frac{1}{4t} < x^2(11) \ge 0$  (3) and we will have to fix the logith of the other the set of the solution o

Esto famula: the modified chain rule  

$$\begin{array}{c}
\textcircled{P}: How das f(x(t)) & Wolve when x(t) is solution of x(t) = F(x(t)) + \gamma(t) (x) \\
\hline x(t) = F(x(t)) + \gamma(t) (x) \\
\hline and m(t) is a Goustion white noise (6WW) & find that 
 $< \gamma(t) > = 0 \quad d \quad < \gamma(t) \quad \gamma(t') > = \nabla \delta(t-t') \\
\hline (a_1, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t') > = \delta(t-t') \\
\hline (a_1, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t') > = \delta(t-t') \\
\hline (a_1, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t') > = \delta(t-t') \\
\hline (a_1, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t') > = \delta(t-t') \\
\hline (a_1, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t') > = \delta(t-t') \\
\hline (a_1, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t') > = \delta(t-t') \\
\hline (a_2, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t) = \delta(t-t') \\
\hline (a_1, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t) = \delta(t-t') \\
\hline (a_2, equivalently, x = F + \nabla \nabla f(t) \quad k < f(t) f(t) = \delta(t-t') \\
\hline (a_2, equivalently, equivalently, f(t) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_1, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_1, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_1, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_1, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_1, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) = f(t) \\
\hline (a_1, equivalently, f(t)) = f(t) \\
\hline (a_2, equivalently, f(t)) \\
\hline (a_3, equivalently, f(t)) = f(t) \\
\hline (a_4, equivalently, f(t)) \\
\hline (a_4, equiv$$$

For those who like none nathenatical deivations.

2.1 ) Evolution of f (x1+1)  $\chi(\xi+d\xi) = \chi(\xi) + F(\chi(H)) d\xi + d_{M}(\xi) + o(d\xi) : d_{\chi}(H) = \int_{\xi}^{\xi+d\xi} ds q(s)$ Discutize time tj=jdt ; t=Ndt Trich:  $f(x_{(1+1)}) = f(x_{(0)}) + \sum_{j=0}^{n-1} f(x_{(1+j)}) - f(x_{(1+j)})$ Idea: Nlarge, dt-00, with t=Ndt fixed to expand  $f(x(t_{jt})) - f(x(t_j)) \simeq \frac{\partial f}{\partial x} \Big|_{t_j} \cdot dx_j + \frac{1}{2} \frac{\partial^2 f}{\partial x^2} \cdot dx_j^2$ where  $dx_j = \chi(\ell_{jf_i}) - \chi(\ell_j) \simeq F(\chi(\ell_j)) dt + d\gamma(\ell_j)$ Thus identify  $f(x(t)) - f(x_0) = \int_0^t ds \frac{df}{ds}(x(s)) to get \frac{df}{ds}(x(s))$ To lighten notation, we denote O(t;) by O;  $f(x(f)) - f(x(o)) = \sum_{j=0}^{N-1} f'(x_j) dx_j + \frac{1}{2} f''(x_j) [F_j^2 dt^2 + 2F_j dt dy_j + dy_j^2]$  $\frac{A \operatorname{malyse} \operatorname{teun} \operatorname{by} \operatorname{teun} \operatorname{in} \operatorname{tlu} \operatorname{linit} dt - \operatorname{po}}{\operatorname{s}} = \sum_{j} f'(x_{j}) \frac{dx_{j}}{dt} dt \qquad \int_{0}^{t} f'(x_{0}) \dot{x}(s) ds = \int_{0}^{t} f'(x_{0}) \left( F(x_{0}) + \gamma(s) \right) \left( F(x_{0}) + \gamma(s) \right) ds$  $(2) = dt \sum_{j=1}^{r} f'(x_j) F(x_j) dt \sim dt \int_0^{t} ds \frac{1}{2} f'(x(s)) F(x(s)) = O(dt) - 0 \circ dt + 0$ (3) = Zdt f''(xj) F(xj) dr; = A rondon variable -10 scale?

$$\begin{split} \langle A \rangle &= \sum_{j}^{n} dt \langle f''(x_{j}) F(x_{j}) \int_{t_{j}}^{t_{j}+t_{j}} \frac{\gamma(1)ds}{\gamma(1)} \int_{t_{j}}^{t_{j}+t_{j}} \frac{\gamma(1)ds}{\gamma(1)} \int_{t_{j}}^{t_{j}+t_{j}} \frac{\gamma(1)ds}{\gamma(1)} \int_{t_{j}}^{t_{j}+t_{j}} \frac{\gamma(1)ds}{\gamma(1)} \int_{t_{j}}^{t_{j}} \frac{\gamma(1)ds}{\gamma(1)} \int$$

$$\langle (dg_{1}^{1} \cdot \nabla dt)^{2} \rangle = \langle dg_{1}^{q} \rangle - 2 \nabla dt \langle dg_{3}^{1} \rangle + \nabla^{2} dt^{2}$$
Since  $dg_{1}^{1}$  is a GRV of o mean ,  $\langle dg_{3}^{q} \rangle = 3 \langle dg_{3}^{2} \rangle^{2} = 3 \nabla^{2} dt^{2}$ 

$$\langle B^{2} \rangle = \sum_{s} \langle f''(s_{3})^{2} \rangle t \nabla^{2} dt^{2} \wedge dt t \nabla^{2} \int_{s}^{t} ds f''(ns) = O(dt) - 0 \circ \\ dtoo \rangle$$

$$\langle B^{3} \rangle = 0 \circ \text{ showns that the name dow vanishles } \sum_{s} f''(ns) = O(dt) = 0 \circ \\ dtoo \rangle \rangle$$

$$\langle B^{3} \rangle = 0 \circ \text{ showns that the name dow vanishles } \sum_{s} f''(ns) = O(dt) = 0 \circ \\ dtoo \rangle \rangle \rangle$$

$$nome \ L^{2} \ to \ the \ \text{limits of } \sum_{s} \frac{1}{2} f''(ns) = \nabla dt \quad \text{and } \text{ and } \text{ and$$

2.2) Generalization to 
$$f(x_{11}, t)$$
  
The derivation above expressions directly to  
 $\begin{bmatrix} \frac{1}{dt} f(x_{11}, t) = \frac{\partial f}{\partial t} + \frac{\partial f}{\partial x} \frac{x_1(t)}{x_2} + \frac{g}{2} \frac{\partial^2 f}{\partial x_1} \\ \frac{1}{dt} f(x_{11}, t) = \frac{\partial f}{\partial t} + \frac{\partial f}{\partial x} \frac{x_1(t)}{x_2} + \frac{g}{2} \frac{\partial^2 f}{\partial x_1} \\ \frac{1}{dt} = F_i (x_{1, -, x_N}) + z_i \quad \text{when the } \{\gamma_i\} \ cu \ conselected \ GWN s.t. \\ \leq \gamma_i(t) \geq 0 \quad \langle \gamma_i(t) - \nabla_i \downarrow \delta(t-t) \rangle \\ \hline Huu \quad \begin{bmatrix} \frac{1}{dt} f(x_i(t), -, x_N(t)) = \frac{Z}{2} \frac{\partial f}{\partial x_1} x_i + \frac{1}{2} \sum_{i, i, h} \frac{\partial f}{\partial x_i \partial x_h} \\ \frac{\partial f}{\partial x_i} f(x_i(t)) = f(x_i(t), -ix_N(t)) = \frac{Z}{2} \frac{\partial f}{\partial x_i} x_i + \frac{1}{2} \sum_{i, h} \frac{\partial f}{\partial x_i \partial x_h} \\ \hline Huu \quad \begin{bmatrix} \frac{1}{dt} f(x_i(t), -ix_N(t)) = \frac{Z}{2} \frac{\partial f}{\partial x_i} x_i + \frac{1}{2} \sum_{i, h} \frac{\partial f}{\partial x_i \partial x_h} \\ \frac{f}{dt} f(x_i(t), x_i(t)) = \frac{X}{2} + \frac{Y}{2} + \frac{Y}{2} + \frac{Y}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \frac{d}{dt} f(x_i(t), x_i(t)) = 0 \\ \hline f(x_i(t), x_i(t)) = 0; \quad \langle x_i(t) - \frac{1}{m} x_i(t) + \sqrt{2} \partial x_i^T - \gamma_i(t) \\ \leq x_i(t) \leq 0; \quad \langle x_i(t) - \frac{1}{m} x_i(t) + x_h \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} x_i(t) + \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x_i} \\ \hline Huu \quad \langle x_i(t) - \frac{1}{2} \frac{\partial f}{\partial x$ 

6`)

2.4] Bach to the paradox  

$$f(x(t)) = x^{2}(t) \quad d \quad \dot{x}(t) = \sqrt{10}^{7} 7(t)$$

$$f'(x) = 2x ; \quad f''(x) = 2$$

$$\frac{d}{dt} f(x(t)) = \frac{\partial t}{\partial x} : \dot{x} + \frac{1}{2} \cdot \frac{\partial^{2} t}{\partial x^{2}} \cdot 2D = 2x \dot{x} + 2D = 20 + \sqrt{80}^{7} x 7(t)$$

$$x^{2}(t) = 20t + \sqrt{10} \int_{0}^{t} \frac{ds}{37} 7(t)$$

$$-w \quad @ wt \quad Alcourd = \sqrt{x^{2}(t)} > 20t$$

$$@ wt \quad Alcourd = \sqrt{x^{2}(t)} > 20t$$

$$@ wt \quad can \quad chaundratize the fluctuations of x^{2}(t) \quad an and its mean 20t.$$
Also works for leighter moments:  

$$\frac{d}{dt} < x^{4}(t) > 2 < x^{3} \dot{x} > + \frac{1}{2} \cdot 20 \cdot 12 < x^{1} >$$

$$= 4 < x^{3} < \sqrt{10} x^{2} (21)^{2} + 12 D < x^{1} >$$

$$= 4 < x^{3} < \sqrt{10} x^{2} (21)^{2} + 3 \times (20t)^{2} = 3 < x^{3} (11)^{2} \text{ as expected for 6RV.}$$
3) Probability of moin realization  
Tf we say that  $[r_{2}(t)]$  forms a  $8t$  of  $6RV$ , it much be mice to be able to write their probability weight.  
Start with N chandra variables  $7$ ; such that  $z^{2} = (r_{1}, -r_{1}, r_{2})$ 

$$P(z^{2}) = \frac{1}{z} exp[-\frac{1}{2}z^{2} \cdot (r_{1}z^{2})] \quad (3)$$
with  $[r^{2} a - 2x^{2} + 2x^{2$ 

Now let's call 
$$t_i := idt$$
 and  $z_i := \gamma(t_i)$  and take the limit  $dt \neq 0$   
hupping  $Ndt = t$  fixed. We then rewait:  
 $\vec{\gamma} \cdot (\Gamma \vec{z}) := \sum_{i,s} \tau; P_{ij} \tau_j := \sum_{i,s} dt' \alpha(t_i) \frac{P_{ij}}{dt'} \gamma(t_j)$   
 $\vec{\gamma} \cdot (\Gamma \vec{z}) = \int_{is} \tau; P_{ij} \tau_j := \sum_{i,s} dt' \alpha(t_i) \frac{P_{ij}}{dt'} \gamma(t_j)$   
 $\vec{\gamma} \cdot (\Gamma \vec{z}) \sim \int dt dt' \gamma(t_i) \Gamma(t_j) \psi t_{ij}$  where  $\Gamma(t_j, t_j) = \frac{1}{dt'} \Gamma_{ij}$  (10)  
What do we have also  $\Gamma(t_j, t_j)$   
 $K = \Gamma'' \Rightarrow \sum_{i,k} K_{i,k} \Gamma_{k,i} = \delta_{i,s} (11)$   $k \sum_{j,k} K_{i,k} \Gamma_{kj} \cdot f_{ij} = \sum_{j} \delta_{i,j} \cdot f_{ij} = f_{i}$   
 $c \Rightarrow \int dt'' dt' K(t_i, t') \Gamma(t', t'') f(t') = f(t)$  with  $K(t_i, t_i) = k_{ij}$   
 $c \Rightarrow \int dt'' dt' K(t_i, t') \Gamma(t', t'') = \delta(t - t'')$   
This is the queen clisation of  $K \cdot \Gamma = Id$  for canvolation here.  
Going back to the GWN :  $C \gamma(t_i) \tau(t_i, t_j) = 2hi \delta(t - t') = K(t_i, t')$   
 $to \Gamma_{i,k} = \frac{1}{2A_{FT}} dt \delta_{i,k} dt Eq (10) = p \Gamma(t_i, t_i) = \frac{1}{2A_{FT}} \delta_{i,k} = \frac{\delta(t_i - t')}{2A_{FT}}$   
We thus chuch that  
 $\int dt' K(t_i, t') \Gamma(t', t'') = \frac{Lk_{FT}}{2A_{FT}} \int dt' \delta(t - t') \delta(t' - t'') = \delta(t - t'')$ 

 $\int$ 

=> 
$$P[[[\pi(H)]] = \frac{1}{2} \exp[-\frac{1}{44T} \int dt dt' \pi(H)\pi(H')\delta(t-t')]]$$
  
 $P[[[\pi(H)]] = \frac{1}{2} \exp[-\frac{1}{44T} \int dt \pi(H)^2]$  (-)  
Colored mains If  $<\pi(H)\pi(H')>= K(t-t')$   
thue  $P[[\pi(H)]] = \frac{1}{2} \exp[-\int dt dt' \pi(H) P(t-t')\pi(H')]$   
when P is push that  $\int dt' K(t-t') P(t'-t'') = \delta(t-t'')$   
4) Probability of trajectories [noted  
If we have  $P[[\pi(H)]]$  and we have  $x(t, \{\pi(t)\}), can we$   
get  $P[[\pi(H)]]$ ? Yes, but this is painfalmon  
 $Chear ging variable w and variables  $x_{1,1}, -\pi w$  is a new set of  
coordinates  $\frac{\pi}{2}(\pi(H)-\pi w)$   
Conservation of probability means that  $P(\pi_{1,1}, \pi_{N}) dw_{1} - dx_{N} = P(g_{1,1}, -\pi w) dw_{1} - dx_{N} = P(g_{1,2}, -\pi w) dw_{1} - dx_{N} = P(g_{1,2}, -\pi w) dw_{1} - dx_{N} = P(g_{1,2}, -\pi w) dw_{1} - dx_{N} = \frac{\pi}{2} \frac{2\pi}{2} \frac$$ 

W's time-discutize the langevin equation 
$$\dot{x} = f(x) + q(t)$$
  
To fixed,  $x_i = x(t_i)$ ,  $t_i = i dt$ .  $x_{i,-}, x_{i}$  and  $RVs$ . Then, we define  
 $\tilde{x}_i = \int_{t_{i,-}}^{t_{i,-}} 2(s) ds$  so that  $\tilde{x}_i$  leads from  $x_{i,-}$  to  $x_i$ :  
 $x_{i,-} = x_i + \int_{t_i}^{t_{i+}} f(n(n)|ds + \tilde{x}_{i+-}| = 0$   $\tilde{x}_{i,-}, \tilde{x}_{i+}$  and  $N \in RVs$ .  
 $\Rightarrow \frac{\partial \tilde{x}_{i,+}}{\partial x_j} = \frac{\partial}{\partial x_j} \begin{bmatrix} 2_{i+-} - x_i - \int_{t_i}^{t_{i++}} f(n(n)|ds] \end{bmatrix}$   
 $= i = f(x_i) dt$ ?  
 $= f(x_i) dt$ ?  
 $= f(x_i) dt$ ?  
 $= f(x_i) dt$ ?  
 $= f(x_i) dt$  with  $x_i^{\alpha} = ax_{i++} + (i - \alpha)n_i$ ?  
All appear equivalue to order deore let's harp a arbitrary for now.  
 $\Rightarrow the matrix \frac{\partial \tilde{x}_{i+}}{\partial x_i} = \tilde{x}(1 - \alpha dt f'(x_i^{\alpha})) \cong \tilde{x} e^{-\alpha dt} f(x_i^{\alpha})$   
 $= o dt = \tilde{x} \frac{\partial \tilde{x}_i}{\partial x_i} = \tilde{x}(1 - \alpha dt f'(x_i^{\alpha})) \cong \tilde{x} e^{-\alpha dt} f(x_i^{\alpha})$   
 $P[p_i(t_i)]] = \frac{1}{t} e^{-\int dt \left[\frac{\alpha^{1}(t_i)}{q_{i+1}} + \alpha f'(n(s))\right]}$   
But we have that  $\dot{x} = f(x) + \gamma(t) = p(t_i - x)f(x)$ 

= b 
$$P[\{n_{141}\}] = \frac{1}{2}e^{-\int dt (\frac{n}{44T} + \alpha f'(n_{15}))}$$

Comment: Causality multis us again choose 
$$\alpha = 0$$
. Thun  $(1)$   
 $P[\{x_{1}|t_{1}\}] = \frac{1}{2} = \int Sdt \frac{(x'-f(x'))^{6}}{44\pi}$   
Then, we need to use Ito calculous to compute time-  
duivatives in the integral.  
If we use  $\alpha = \frac{1}{2}$ , we use what is called Structure vich  
time disactization. We can use standard calculous in the  
exposent, but the conjutation of averages is handersine  
 $T_{itr}$  and  $x_{itr}$  are now can detect =  $< x_{cir}, z_{cir} > \pm 0$ .  
[Anomaly de Pineg, Cugliandolo, lecante, van Wijland, Adv. Phys. 2023]  
 $avxiv: 2211.09470$ 

Chapter 3: Hu Fohne-Planch equation (17) Reference: Rishin, "The Fohler-Planch requartion", Springer Take x(4) Juck that x(0)=\* & x (E)= F(x(41)+5(4) (1), where S is a GWNS.t. < 5413=0, < 541547>=208(2-17) Consider several realizations of x(4) the position & at time t, given that More concisely, we write P(x,t(xo,o) and strug that z & xo and numbers while x(+) is a stochastic pro cess. Charly  $P(\bar{x}_{t} \in [x_{0}, 0) \neq P(\bar{x}_{t} \in [y_{0}, 0) \Rightarrow Q^{\circ}$  how dos  $P(\bar{x}_{t} \in [x_{0}, 0)$ evolves in fine ? 1) The Fokher Planch Equation In Eq (1), the statistics of 5(4) do not depend on x(E). This is called au additive Maise. Instead we can consider a case when, Say, the temperature is inhomogeneous T, 72>T, Thus T(x) & the langevin equation is of the type  $\hat{x} = F(x) + \sqrt{2D(x)^2} 5(4)$  (2)